
PCW-5000 Text
€. Ex 

moms

Skr  ex. 

moms

inkl. 

moms

10-0094 WINCH HANDLE € 17,00 209,10 261,38

10-0095 GUARD PLATE PCW5000 € 21,00 258,30 322,88

10-0096 57 MM CAPSTAN DRUM ersätts med PCA-1110 0,00

10-0098 BUSHING FOR SAFETY HOOK € 3,00 36,90 46,13

10-0099 ALUMINIUM ROPE EXIT HOOK € 17,00 209,10 261,38

10-0100 Repstyrning                           (Serie nr före  4602  10-0333) € 42,00 516,60 645,75

10-0101 REPTRISSA MÄSSING € 22,00 270,60 338,25

10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN € 0,90 11,07 13,84

10-0103 REP STYRNING ROSTFRI € 22,00 270,60 338,25

10-0119 SHOULDER BOLT 5/8 X 1-1/2 - ZN € 9,00 110,70 138,38

10-0324 SPACER FOR HONDA SWITCH MOUNT € 3,50 43,05 53,81

31-0010 HCS 1/2-13 X 6 - GR5 - ZN € 3,60 44,28 55,35

31-0019 HCS 3/8-24 X 1 GR5 - ZN € 0,60 7,38 9,23

31-0024 BHCS 1/4-20 X 1 - SS € 0,40 4,92 6,15

31-0025 BHCS 1/4-20 X 3/4 - SS € 0,30 3,69 4,61

32-0002 HEX FLANGE SERRATED BOLT M6-1 X 12 MM - ZN € 0,30 3,69 4,61

33-0005 NUT 1/2-13 NYLON - ZN € 0,40 4,92 6,15

35-0004 FLAT WASHER 1/2 - ZN € 0,40 4,92 6,15

39-0008 OIL PLUG 3/8 - ZN € 0,70 8,61 10,76

39-0042 HEX SCREW WASHER HEAD - TYPE AB - 10 X 5/8 € 0,60 7,38 9,23

43-0013 KEY FOR CAPSTAN DRUMS 57 MM, 85 MM, 108 MM (5/16 X 1-1/4) € 2,00 24,60 30,75

44-0019 VINYL HANTAG € 2,70 33,21 41,51

49-0032 TYPE "U" DRIVE SCREW #4 (0.114" X 1/4") S/S € 0,30 3,69 4,61

70-0098 ENGINE FOR PCW5000 & PCW5000-HS € 687,00 8450,10 10562,63

PCA-1110 57 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS € 75,00 922,50 1153,13

PCA-1100 85 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS € 85,00 1045,50 1306,88

PCA-1281 SAFETY HOOK WITH LATCH € 6,00 73,80 92,25

Reservdels nr PCW-5000              2022


